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[1]PCB¥H 180 97 ¥X2.5 ¥XT3
[1-1]F/ 77 x=/LH 6.3 10 0.2 0.5
(121 Y7 um b7 =/l 54 33 0.9 2.6
[1-3] i\)7uut7lﬂ»¢g 44 27 0.7 2.1
[1-4]7 FZ77mRubET ==/ 34 14 0.3 0.9
[1-4-1] :7 Z7F—PCBD I H©3344-T FT7mnub 7=, (#77) 0.26 0.089 0.009 0.022
[1-42] 277 ) —PCBD H H 3445-7 b T 7unb 7 =)L (#81) tr(0.017) tr(0.011) 0.009 0.023
[1-5] X # 7 nn 7 ==/ 27 9.9 0.2 0.5
[1-5-11 277 F—PCBD H H 233 44-X 4 /mnbe” ==/ (#105) 0.71 0.22 0.006 0.015
[1-5-2] 277 F—PCBD 2 5 2,344 5- X% 7unt 7 =)L (#114) 0.075 0.027 0.009 0.023
[1-5-3] 277 F—PCBD 5 5 2,3 44,5-XvF7nnb 7=/l (#118) 1.8 0.64 0.02 0.06
[1-5-4] 275 F—PCBD 5 5 2' 344 5% /7unb 7 =)L (#123) 0.06 tr(0.02) 0.01 0.03
[1-5-5] 277 —PCBD 5 5 33 44,5- % 7ant” ==L (#126) 0.022 tr(0.017) 0.008 0.021
[1-6] ~¥H7mre 7 ==/ 8.6 2.9 0.1 0.3
[1-6-11 27 ZF—PCB®D H 23344 5-~FHr/nn 7 x=/L (#156) 0.089 0.041 0.007 0.017
[1-6-2] 277 —PCBD > % 23344 5-~FH oo x-=L (#157) tr(0.02) tr(0.01) 0.01 0.03
[1-6-3] 277 —PCBD 5 5 2,3'44,55-~FHhr/nnt 7 x=,L (#167) 0.05 tr(0.02) 0.01 0.03
[1-6-4] 27 ZF—PCBD H 33 44'55-~FHr/mrb 7 ==, (#169) nd nd 0.01 0.03
[1-7]~F 2 27nne T ==V 0.98 0.51 0.07 0.21
[1-7-11 27 FF—PCBD H  22'33 44, 5-~7 ¥ /nub 7 x=/L (#170) 0.077 0.041 0.005 0.014
[1-7-2] 27 ZF—PCBD H 5 22' 344 55-~7 X /mnnub 7 ==/ (#180) 0.18 0.08 0.02 0.06
[1-7-3]1 2755 —PCBD 9 23344 55-~FF /nut 7 ==L (%189) nd nd 0.008 0.020
[1-8] A7 # 7 nn B 7 ==/ 0.12 0.08 0.02 0.06
[19] /FZ7mrubt 7 ==/ nd tr(0.04) 0.03 0.07
[1-10) Fh 7 ruE 7 ==L tr(0.01) 0.05 0.01 0.03
[2]HCB (~FH 27 mnoxr¥y) 130 97 0.7 1.8
[6] DDTHA 21 6.2 3%3%0.32 ¥3%0.95
[6-1] p,p'-DDT 5.8 1.8 0.03 0.10
[6-2] p,p'-DDE 9.7 2.8 0.21 0.62
[6-3] p,p'-DDD 0.16 0.08 0.01 0.02
[6-4] 0,p'-DDT 43 1.1 0.05 0.14
[6-5] 0,p'-DDE 1.1 0.34 0.01 0.04
[6-6] o,p'-DDD 0.20 0.08 0.01 0.03
[71 27 v V7 A 700 290 HK1.0 #%3.0
[7-1] cis-Z BT > 220 95 0.3 0.9
[7-2] trans-Z B JLT 270 120 0.4 1.2
[7-3]AF > 2 urs v 3.0 12 0.01 0.03
[7-4] cis-/ F+ 2 m)v 22 8.0 0.04 0.11
[7-5] trans-/ F~ 2 @)L 180 68 0.3 0.8
[8] ~F% 7 a /L 47 31 ¥3%0.11 3%3%0.29
[8-1]~T % 7 mjv 43 29 0.04 0.11
[8-2] cis-~T X 7 u )L mRF R 43 1.7 0.01 0.02
[8-3] trans-~7 % 7 B LRI TR tr(0.06) nd 0.06 0.16
[11-1] o-HCH 65 32 0.47 1.4
[11-2] B-HCH 12 5.5 0.09 0.27
[11-3]y-HCH (314 : V> F ) 22 10 0.12 0.35
[11-4] 3-HCH 22 0.80 0.02 0.05
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[121 7 anrsay nd nd 0.02 0.04
[13]~FH T eEL T ==/l nd nd 0.1 0.3
[14] KV 7 aEY T =)L —7 )VIH (REEDINHI0ETOH D) nd nd HK11 HK32
1417 R 7 0EDT == LT —7 ¥ 23 0.63 0.05 0.12
[14-1-1122'44-F 57 BED T ==L —F )L (#47) 1.7 0.41 0.05 0.12
[142] R # T V7 = =)Lm—TF LI 0.38 0.35 0.05 0.12
[14-2-1122' 445X 2 T 0EY 7 ==L —7 )L (#99) 0.29 0.20 0.05 0.12
[14-3) ~F YT uED T 2= VT —F VI 0.18 0.36 0.06 0.16
[14-3-11 2,244 55-~F 7 0Ey 7 = =Lt—7 /L (#153) nd 1r(0.07) 0.04 0.11
[14-3-2]2,2'4,4',5,6-~F Y7 €Y7 =)L —7 )L (#154) nd tr(0.08) 0.06 0.16
[14-4) ~THZ 7 aEYT ==t —F VI tr(0.2) 0.3 0.1 0.3
[14-4-1122'33'456-~7 4 7 2EL 7 = =/LT—7 /L (#175) KO nd tr(0.2) 0.1 0.3
[14-4-212,2'3,4,4.5.6-~7 X7 0Ey 7 =)L =—7/) (#183) OAHEHE
[14-51 42 27 0EP7 ==L —F LF 0.19 0.51 0.06 0.15
[14-6] / 77 0ET T = =)Lt —7 LK nd nd 12 3.7
[14-7] T A7 aEY 7 2= )VE—F )L nd nd 9.1 27
[15] T NFud s 2 AR g (PFOS) 5.1 42 0.1 0.4
[16] ~ 7 At % ok (PFOA) 24 6.5 0.2 0.5
7] F 7 maxXrP 86 71 0.5 1.2
[I8-IINN-V T ==/bp-T ==L D7 > nd 0.34 1.4
nd
nd
[182]NN-Y R U bp-T ==L VT IV nd 0.51 1.5
nd
nd
[18-3]NN-TF Y bop-T ==L VT I nd 0.34 1.4
nd
nd
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